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STEP V.

Estimated net revenue from replanting same crop

Harvestable yield

Determine expected yield from replanting same crop based on information supplied or calculated in Step I.
Estimated gross revenue

Expected yield is multiplied by expected bushel price of replanted crop.

Estimated net revenue

Estimated gross revenue is reduced by additional costs and harvest costs calculated in Step 1.

Estimated net revenue from replanting alternative crop

Harvestable yield

Determine expected yield from alternative crop based on information supplied or calculated in Step L
Estimated gross revenue

Expected yield is multiplied by expected bushel price of alternative crop.

Estimated net revenue

Estimated gross revenue is reduced by additional costs and harvest costs calculated in Step I.

Compare replanting choices

With net revenue calculated for maintaining the existing crop, replanting same crop and replanting alter-
native crop, a comparison can be made to determine the choice with the highest net revenue.

Example 2 Worksheet

STEP 1. Information needed for the replant analysis

o

o

(2}

d

. Yield potential

(field history)

. Value of grain
(at harvest)

. Yield loss due

Replant Replant
Existing Original Alternate
Crop (Corn) Crop Crop (Sorghum)
a.1) /OO bu a.2) /OO bu a3) 80 btu

b.1) 825%bu
cl) 19 %

b.li"z.;a/bu

b.2}€2 5 /by

to storm
. Yield loss due d.2) 90 bu d.3)_ 4% bu
to late planting
. Additional cost (see Table I)
$/acre
Tillage 150 Loo goo
Seed el 20.00 5.00
Herbicide e — g R
Labor /7.2 3.50 _ﬂf
Other e e
Total 2275 e.2) 39450 ¢.3)P/6.50



f. Harvesting costs (see Table I)

Combine 925 775 2 00
(inc. labor)

Truck Q_IQ 500 iZo

Auger _.9 _.50 Y4

Dry 12.5/ 250 (0.05

Total £.1y930.3! £.2$20.25 fs)‘.!f._‘fZ

STEP II. Estimated net revenue from existing crop

A. Yield reduction due to storm

100 vu/ax (9 %loss = {9 bu/aloss

a.l c.l
B. Yield to be harvested

100 bu/a— 19 bu/aloss = 8, bu/a harvested
a.l

C. Estimated gross revenue

& bu/a harvested x#& é /bu = M/a

D. Estimated net revenue

,5'.?(_)2 50 /a —$: 75_ /a additional — ;343 /a harvest = é/‘q ¢f/a

cost Fil cost

STEP III. Estimated net revenue from replanting same crop
A. Yield to be harvested

/00 bu/a— 50 bu/aloss = SO bu/a harvested
a.2 d.2

B. Estimated gross revenue

50 bvu/aharvested x 5250 bu = 79/2500/21
b.2

C. Estimated net revenue

;’225 00 /a — 193/ 5'0 /a additional -—-320 75 /a harvest = #72 25 /a

cost f.2 cost

STEP IV. Estimated net revenue from replanting alternative crop
A. Yield to be harvested

8Q bu/a — B bu/a loss = 67 bu/a harvested

a.3 d.3

B. Estimated gross revenue

67 bu/a harvested x 5‘2 »2./5 /bu = "‘/‘f‘/ o5
b.3

C. Estimated net revenue

$/‘V”.05 far— ﬂ/‘-ﬁ /a additional — $2‘f.‘f2 /a harvest = $10313 /a

e.3 cost f.3 cost




STEP V. Compare replanting choices

Replant Replant
Existing Original Alternate
Crop Crop Crop
Net Revenue S/69.4Y)2 #7275 S103.43/a

Choose the choice with the highest net revenue.
Since the existing crop has the highest net revenue, don’t replant.

Summary

Take into consideration non-economic factors such as time available, herbicide compatibility, seed availability, soil
moisture, and risk of early fall frosts. Fertilizer needs will vary. Some data indicate starter fertilizer applied with late
planted sorghum may hasten maturity. If there is an early frost this would be beneficial.

Consider alternate uses of the land such as seed to hay crop, or taking the replant crop as silage, There also may be
other factors to consider, such as crop insurance, loan payments, government program and landlord/tenant agree-
ments.

Generally, early season hail defoliation needs to be extremely severe to justify replanting. Loss due to early season
hail damage is not-usually detrimental to yield. Late planting limits maximum yield potential and entails additional
costs,

Usually it does not pay to replant corn with corn due to the late date at which hail damage begins to hurt yield.
Severe damage to young soybean plants occurs due to stripping cotyledons from the plant. Replanting with soybeans
or sorghum may be more profitable under these conditions. By following the procedures outlined in this article and
the information in the NebGuides listed at the end, you should be able to make a better informed replant decision.

Table I. Selected costs for field operations connected with replanting. (Source: Estimated Crop and Livestock Production Costs, 1989)

Total@
Item Hours/operation Fuel Repair Variable Fixed Total
$/acre
Disk 0.104 $0.42 $0.93 $1.35 $3.23 $ 4.58
Field Cult. 0.112 0.45 1.40 1.85 3.82 5.67
Planter 0.204 0.83 3.06 3.89 7.27 11.15
Row Cult. 0.189 0.49 1.09 1.58 2.68 4,28
Combine corn (130 bu/a) A7 1.56 4.72 6.28 21.01 27.28
Combine corn (80 bu/a) 31 1.04 4.72 5.76 21.01 26.76
Combine sorghum 22 13 4.72 5.45 21.01 26.46
Combine soybeans .29 .96 4.66 5.62 23.55 29.17
Truck grain .10/bu
Dry grain .15/bu
Auger .01/bu
Seed
Corn 15.00-25.00
Soybeans 15.00
Sorghum 5.00
Herbicide ---—-yariable and optional
Fertilizer ---—-only if going from soybeans to sorghum
@Note: Only variable costs need to be considered if equipment is owned
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Figure 1. Effect of planting date on yield of corn, soybeans and sorghum



For More Information

These NebGuides are available at your Extension of-

fice:

G84-687, Soybean Planting Date: When and Why
G75-252, Replanting After Flood or Hail
+ G85-762, Soybean Yield Loss Due to Hail Damage

+G86-812, Sorghum Yield Loss Due to Hail Damage
+ G86-803, Assessing Hail Damage to Corn

G86-796, Growing Degree Day Requirements and
Freeze Risk as a Guide to Selecting and Planting Corn

Hybrids

*+Data in these NebGuides are based on procedures
developed by the National Crop Insurance Association.

Hail Damage Assessment and Replant Decision Worksheet

STEP 1. Information needed for the replant analysis

Existing
Crop
A. Yield potential a.l) bu
(field history)
B. Value of grain b.)8 _ /bu
(at harvest)
C. Yield loss due c.l) L)
to storm

D. Yield loss due
to late planting

E. Additional Costs (see Table I)

Tillage
Seed
Herbicide
Labor
Other
Total

F. Harvesting costs (see Table I)

Combine
(inc. labor)

Truck

Auger

Dry

Total f.1)

el o

Replant
Original
Crop

82)—__ _bu

by bu

d.2) bu

$/acre

e2)d

£.2)

Replant
Alternate
Crop

A e—————"bn

b.2) $ /bu

d.3) bu

e3)$ un

£.3)



STEP II. Estimated net revenue from existing crop

A. Yield reduction due to storm

bu/ax___ %loss=___ bu/aloss
a.l c.l
B. Yield to be harvested
bu/a—_  bu/aloss =_____ bu/a harvested

a.l

C. Estimated gross revenue

bu/a harvested x $ _/bu =$ /a
b.1
D. Estimated net revenue
$§ = sa—3% = Jaadditional—8% Jaharvest=_____ /a
e.l cost f.l cost

STEP III. Estimated net revenue from replanting same crop

A. Yield to be harvested

bu/a—___ bu/aloss = _______ bu/a harvested
a.2 d.2

B. Estimated gross revenue

bu/a harvested x 3 bu = $ /a
b.2
C. Estimated net revenue
§ - p % Jaadditionst—3% - ammwvest=f - /g
e.2 cost 1.2 cost

STEP IV. Estimated net revenue from replanting alternative crop
A. Yield to be harvested

bu/a—_  bu/aloss=_____ bu/a harvested
a.3 d.3
B. Estimated gross revenue
_ bu/aharvestedx$  mu=3% = /a
b.3
C. Estimated net revenue
$ - -3 - additfonal—% __  harvest=3 43
e.3 cost f.3 cost

STEP V. Compare replanting choices

Replant Replant
Existing Original Alternate
Crop Crop Crop
Net Revenue $ /a $ /a $

Choose the choice with the highest net revenue.



